Intention Graph

The intentions are:
<Intention OxB0Beel> {current intention? achieving the goal: ¢ (PEINT-FACTORIAL
compozed of the following thread(s):
i
<Thread 0xHOd3F0x in OP: |Print Factoriall, which izt ACTIME and has posted t
<Goal 0xbOI87e>: {1 (FACTORIAL L¥X->15% LEM->NULLX
T
<Intention Ox28R2BEY {current intention? achieving the goal: ¢ (PEINT-FACTORIAL
compozed of the following thread(s):
i
<Thread 0x285310% in OP: |Print Factoriall, which izt ACTIME and has posted t
<Goal 0xbO98E8x: {1 (FACTORIAL L¥X->15% LEM->NULLX
T
<Intention 0x1a3dr20> {current intention? achieving the goal: ¢ (PEINT-FACTORIAL
compozed of the following thread(s):
i
<Thread 0x1a2bd(> in 0OP: |Print Factoriall, which izt ACTIME and has posted t
<Goal 0xbOBFA8x: {1 (FACTORIAL L¥X->15% CEM->NULLX
T
Done,
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